@@ ﬁ?\- Q Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
4,289 x 100 = 3,942 x 1000 =
4,604 x 100 = 1,878 x 1000 =
9,508 x 10 = 4,404 x 100 =
10,065 x 100 = 7,303 x 100 =
8,798 x 10 = 9,671 x 100 =
6,212 x 100 = 8,952 x 100 =
2,519 x 10 = 10,327 x 10 =
1,1x10= 4,535 x 1000 =
2,085 x10= 4,391 x 1000 =
2,601 x 10 = 6,406 x 100 =
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@@ % @ Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
4,289 x 100 = 428.9 3,942 x 1000 = 3942
4,604 x 100 = 460.4 1,878 x 1000 = 1878
9,508 x 10 =95.08 4,404 x 100 =440.4
10, 065 x 100 = 1006.5 7,303 x 100 = 730.3
8,798 x 10 = 87.98 9,671 x 100 = 967.1
6,212 x 100 =621.2 8,952 x 100 = 895.2
2,519 x 10 =25.19 10,327 x 10 = 103.27
1,1 x10=11 4,535 x 1000 = 4535
2,085 x 10 =20.85 4,391 x 1000 = 4391
2,601 x 10 =26.01 6,406 x 100 = 640.6
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